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SJA Santiago Apéstol

SUPERLATIVE ADVERBS

very well most quickly the worst most slowly
most carefully the most the shortest the best

GRANDPA: And here we are at the Star House Birthday Race. The explorer’s first at
the moment. He’s jumping ..................... The clown’s jumping the ..................... 3
butatot thie on s e . Oh, he’s got problems. I think he’s falling.

MR STAR: Oh, dear! He’s going down!

GRANDPA: And the pirate and the robot are both trying to get third place. Ooh,
this is very exciting. And the doctor’s jumping ..............ccveeeunns , but she’s laughing
..................... . The artist is jumping the ....................., but she’s doing very well.

MR STAR: Er, she isn’t jumping, Dad. She’s walking.

GRANDPA: Hmph! She’s doing ...................... She has got «....oovevvrveee.. legs.
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II. Choose the correct answer.

1. What are the children doing? 1. He’s jumping the most quickly. —
2. He’s the pirate. —

2. Who's first? 3. He’s the clown. —
4. She’s jumping the worst. —

3. Who's last? 5. He’s jumping the best. —
6. She’s the artist. —

4. Who'’s walking? 7. She’s jumping the most slowly. —

. She’s the robot. —

III. Read and write “yes” or “no”.

The man with the moustache is talking the most quietly. _._..._.___.
The younger girl is riding the most carefully. ..
The woman wearing glasses is shouting the most loudly.
The boys are riding the best.
The older girl is riding the most quickly.
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The man with the beard is riding the most slowly.

GOOD LUCK!



